Orust BK

Partavling 2019-04-11

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac  Par Poéng % Namn MID Klubb
1 12 188 65.28  Bengt Hilling - Kent Larsson 10849 7660 Orust BK - Tjorns BK
2 13 165 57.29  Erling Lennartsson - Mats Olsson 7457 9337 Orust BK
3 3 164 56.94  Anders Dellien - Hans Johansson 7117 14410  Tjorns BK
4 8 160 55.56  Kjell Berg - Leif Martinsson 13142 7463 Tjorns BK - Orust BK
5 5 159 55.21  Borje Johansson - Bernt Johansson 16700 9164 Orust BK
6 4 157 5451  Olle Olsson - Eva Glans 7472 8552 Orust BK
7 11 155 53.82  Shirley Persson - Ingemar Andersson 25455 26762  Orust BK
8 6 147 51.04  Otto Berntsson - Arnold Knutsson 78315 7468 Orust BK
9 14 136 47.22  Folke Abrahamsson - Stig Larsson 30998 24367  Orust BK
10 10 132 45.83  Olle Kimfalk - Tommy Gyllin 84905 13152  Brastads BS
11 1 126 43.75  Allan Johansson - Arne Andersson 18392 18451  Tjorns BK
12 2 122 42.36  Kent Josefsson - Barbro Josefsson 26200 26199  Askims BK
13 9 110 38.19  Kjell Holmgren - Bertil Andersson 10291 79726  Orust BK
14 7 95 32.99  Georg Olsson - Lars Olsson 26438 - Orust BK
1 4« Kn432 2 1064 3 « ED974
Nord v K763 Ost v K10986 Syd vD102
Ingen +3 NS +D ov + EK8
K642 &#EK105 #65
4 EKD107 495 4Kn75 4832 410832 & KKn6
v4 vED82 vED42 vKn753 v 97 v EKn64
+ D642 + EK87 +82 + K9754 +D9632 +74
*E98 #Kn53 #9743 &6 «107 #DKn94
4 86 « EKD9 45
v Kn1095 v- v K853
¢ Kn1095 ¢ EKn1063 ¢ Kn105
D107 #DKn82 #EK832
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
8 14 3NV= *2 -400 120 00| 4 6 3NN+3 43 690 11.0 10( 5 7 3NN+1 ¥5 430 11.0 10
12 7 44 O= +3 -420 100 20| 8 14 3NS+3 47 690 11.0 10|13 2 3NN+1 v6 430 11.0 10
3 11 3NO+1 *T -430 6.0 60| 2 5 3NN+2 ¢4 660 6.0 60 3 6 3NN= v4 400 8.0 4.0
9 10 3NO+1 vJ -430 6.0 60|12 7 3NN+2 &6 660 60 60| 1 8 3NS-1 +3 -50 30 9.0
13 1 3NO+1 ¢J -430 6.0 6.0[13 1 3NN+2 &6 660 6.0 60| 4 12 3NS-1 +3 -50 30 9.0
4 6 3NO+2 T -460 20 100 9 10 3NN+1 ¢4 630 20 100| 9 14 3NN-1 2 -50 3.0 9.0
2 5 3NV+3 43 -490 0.0 120( 3 11 6#S-1 3 -100 0.0 12010 11 3NN-1 v4 -50 30 9.0
4 4 E1072 5 4 KD106 6 45
Vast v KDKn94 Nord vED104 Ost v 9865
Alla + 106 NS 4943 ov + 1062
*E4 «D5 #DKn732
« D54 & KKn83 487 4 E93 48763 #E942
v 82 vE106 vKn62  vK73 v432 vKDKn
¢ KDKn95 ¢ E87 ¢ ED765 ¢ K82 ¢ED9 ¢ Kn873
«D106 *K73 2943 #E1087 #1054 #EK
496 & Kn542 4 KDKn10
v 753 v 985 vE107
¢ 432 ¢ Kn10 + K54
#Kn9852 &#KKn62 #986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 8 3NV-2 «9 200 100 20| 2 9 24 S= v6 110 120 00| 6 8 240-1 «8 100 12.0 0.0
5 7 3NO-2 v5 200 100 20| 4 7 3NO-1 v8 50 100 20| 5 1 2&#N-2 vK -100 10.0 2.0
13 2 3NO-2 v3 200 100 20|11 12 INO= a2 -90 80 40| 2 9 INO+1 &K -120 8.0 4.0
4 12 2¢ V+1  vQ -110 60 60 5 1 INN-1 8 -100 6.0 6.0|14 10 34 O= +Q -140 6.0 6.0
3 6 200+2 +vQ -130 40 80| 6 8 3¢ V= 4Q -110 40 80| 4 7 2NO+1 4Q -150 30 9.0
9 14 3v N-2 *7 -200 20 100|113 3 INO+1 ¢J -120 10 11.0|11 12 INO+2 T -150 30 9.0
10 11 3NO+1 +3 -630 0.0 120(14 10 2NV= 4 -120 10 11.0|13 3 2vyDN-2 vQ -300 0.0 12.0
7 48743 8 4109432 9 874
Syd vE954 Vast vKn Nord v K103
Alla ¢E4 Ingen + 864 ov + EK982
&E43 &ED53 &#Kn6
4KD2 #E10 «KKn76 & ED85 492 4 KDKn1053
vD73 v Kn82 vE10642 383 vD5 v 876
410875 ¢ KD62 ¢ E95 + K32 + Kn6 + D53
*K62 #9875 *8 *K742 #ED109752 &K
4 Kn965 .- 4 E6
v K106 vKD975 v EKn942
¢ Kn93 ¢ DKn107 + 1074
#DKn10 #Kn1096 843
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 2 14 S+2 ¢7 140 120 00| 3 10 44 O-1 +J 50 11.0 10| 8 10 3#V-2 +K 200 120 0.0
7 9 2vyN= 4A 110 80 40|12 1 3NO-1 &T 50 11.0 10|( 1 2 340-1 T 100 70 5.0
12 1 14 S+1 T 110 80 40| 6 2 2NO= +J -120 80 40| 4 11 340-1 ¢4 100 70 5.0
13 4 14 S+1 +8 110 80 40| 7 9 2NO+1 &J -150 6.0 60|12 14 34 0-1 ¢7 100 70 50
5 8 INO-1 45 100 40 80| 5 8 440= +J -420 30 90|13 5 340-1 T 100 70 5.0
3 10 Pass 10 11.0|14 11 44 V= +8 -420 30 90| 6 9 3vS-1 49 -50 2.0 10.0
14 11 Pass 10 11.0|13 4 44 0+1 +¢Q -450 0.0 120| 7 3 24 0+1 T -140 0.0 12.0
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10 4842 11 4 ED92 12 4106
Ost v KKn1075 Syd v4 Vast v 953
Alla ¢ 852 Ingen + EKD4 NS 4 Kn1032
K7 #Kn1076 £#Kn532
4103 & KDKn 45 & KKn1063 4Kn83 & EK94
vED83 v94 v E85 v KKn1092 v42 v EDKn106
¢ KDKn6 ¢ E1093 ¢ Kn9872 ¢3 ¢ EKD9 +64
#Kn92 D653 &#E853 D2 &#EK64 #109
4 E9765 4874 « D752
v 62 v D763 v K87
*74 + 1065 4875
#E1084 K94 D87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 11 3NV-3 a4 300 120 0.0| 1 14 24DO-1 &4 100 120 0.0| 9 11 6NV-1 *J 50 110 1.0
12 14 3NO-2 46 200 100 20| 7 10 3« N-2 +3 -100 100 20|13 6 7NV-1 v5 50 11.0 1.0
1 2 3NO-1 a5 100 70 50| 9 11 2v0O= &4 -110 70 50| 2 3 3NV+2 v3 -460 50 7.0
6 9 3¢V-1 a4 100 70 50(13 6 2v 0= &4 -110 70 50| 5 12 3NV +2 aT -460 50 7.0
8 10 24 S-1 +K -100 40 80| 2 3 3vO0O= 48 -140 20 10.0| 7 10 3NV +2 *J -460 50 7.0
13 5 3¢ V= +5 -110 20 100| 5 12 2¢ O+1 49 -140 20 100| 8 4 3NV+2 T -460 50 7.0
7 3 24DS-1 43 -200 00 120| 8 4 2vV+1 &9 -140 20 100| 1 14 B6NV= *J -990 0.0 120
13 & E952 14 493 15 4 K32
Nord v K8 Ost v 1097 Syd v KD108753
Alla ¢ 10974 Ingen ¢ 543 NS ¢+ Kn
#3875 #109653 #Kn9
4Knl0 #KD3 4« K75 ~ E64 4 Kn9874 D6
vD76 vEKn v D65 v Kn83 v Kn9 v E6
¢ E632 ¢ KDKn8 ¢ EKKn9 ¢ D102 443 498762
#ED63 #Knl1094 &E82 &KKn74 £7654 #EK103
48764 « DKn1082 4 E105
v 1095432 v EK42 v42
+5 + 876 + EKD105
&K2 D £D82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 4 3NV+3 +9 -690 60 6013 7 3NV= 49 400 120 0.0(10 6 4v S+l 49 650 12.0 0.0
6 1 3NO+3 v9 -690 60 60| 3 4 3NO+1 & -430 50 70| 4 5 4v N= &K 620 70 50
8 11 3NO+3 v4 -690 60 60| 6 1 3NV+1 43 -430 50 70| 7 2 4v N= &A 620 70 5.0
9 5 3NO+3 v4 -690 60 6.0 8 11 3NV+1 49 -430 50 7.0(13 8 4v N= K 620 70 5.0
10 12 3NO+3 v4 -690 60 60| 9 5 3NV+1 &T -430 50 70|14 3 4v N= «Q 620 70 50
13 7 3NO+3 44 -690 6.0 6.0]10 12 3NV +1 49 -430 50 70|11 1 2¢ N+2 «K 130 20 10.0
14 2 3NO+3 v9 -690 60 60|14 2 3NV+1 &5 -430 50 70| 9 12 5¢v N-1 &K -100 0.0 120
16 « KD984 17 & Kn43 18 « EKn9
Vast v KD52 Nord v7 Ost v EK54
ov + D76 Ingen + D943 NS 4532
&K #DKn864 #Kn85
4 E2 410763 4 D76 « EK1052 a742 46
v 9843 v Kn6 v E82 v 964 vD93 vKnl076
¢ EKn10842 +5 + K108762 +E ¢+ ED9 ¢ Knl08764
210 #ED8632 &E #K1032 #K972 #D6
& Kn5 498 4 KD10853
vE107 v KDKn1053 v 82
¢ K93 ¢ Kn5 +K
#Kn9754 975 &E1043
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 2 24 N+1 ¢5 140 100 20|11 7 24 O+3 ¢K -200 120 0.0(10 1 44 S+l &2 650 9.0 3.0
13 8 24 N+1 45 140 100 20| 8 3 440-= vQ -420 80 40|11 7 44 S+1 +A 650 9.0 3.0
14 3 34 N= +5 140 100 20|10 1 440-= vK -420 80 40|12 2 464 N+1 &7 650 9.0 3.0
11 1 2v N-1 +5 -50 6.0 6.0(13 9 44 0= vK -420 80 40|13 9 44 S+1 a2 650 9.0 3.0
4 5 44 S-2 &T -100 20 100| 4 14 44 O0+1 vQ -450 30 90| 4 14 44 S= a2 620 20 10.0
9 12 44 N-2 +5 -100 20 10012 2 44 O+1 ¢K -450 30 90| 5 6 44S= a4 620 20 10.0
10 6 2v N-2 +5 -100 20 100| 5 6 44 0+3 vQ -510 00 120| 8 3 44 S= a4 620 20 100
19 « ED96 20 « DKn83 21 107
Syd v KKn7 Vast v KKn1084 Nord v 65
ov + KD65 Alla + Kn10 NS + ED86
K10 &E4 #K10832
a72 #1053 4 E1074 4K962 4 EDKn6 #K54
v 1098532 v ED6 vD953 w7 vD7 v KKn82
*73 49842 + D53 + K92 + 1074 49532
D95 #Kn84 #95 #D10762 #EKN96 #D5
» KKn84 45 49832
va v E62 v E10943
¢ EKn10 + E8764 ¢ KKn
&E7632 £#KKn83 &74
Par Kontr Ut Res Poéang Par Kontr Ut Res Par Kontr Ut Res Poang
5 14 64 S= v9 980 80 40|13 10 3NN+2 49 660 20 00|10 5 2¢DS= #A 180 12.0 0.0
6 7 64 N= 43 980 80 40| 5 14 4v N= v7 620 80 40(12 3 INV+1 &3 -120 9.0 3.0
9 4 64 N= v9 980 80 40| 6 7 4v N= v7 620 80 40(13 11 INO+1 v4 -120 9.0 3.0
12 8 64 S= v9 980 80 40|11 2 4v N= &7 620 80 40| 1 9 INO+2 3 -150 50 7.0
13 10 64 S= vT 980 80 40|12 8 3v N+1 &8 170 40 80|14 6 INV+2 &3 -150 50 7.0
11 2 3NN+2 +4 460 20 100| 1 3 1401 vA 100 20 100| 2 4 24#DN-1 +5 -200 20 100
1 3 6NN-2 a5 -100 00 120| 9 4 4v N-1 *6 -100 00 120| 7 8 3NV+1 v6 -430 0.0 120
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22 & Kn982 23 « D1065 24 10532
Ost v K6 Syd v10 Vast v Kn10853
oV + D1084 Alla + KD72 Ingen +9
«KD8 #K1097 #1043
& K76 «D3 « EKKn2 48743 4Kn984 & EKD7
vKn532 ¢D1084 v Kn98 v E43 v EK v D942
*72 + EK95 465 + E103 + K753 +108
#10532 #Kn94 &#E863  #Kn42 &EKKn #972
4 E1054 49 46
vE97 vKD7652 v76
+ Kn63 + Kn9g4 ¢ EDKn642
»E76 D5 D865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 6 3NN+1 ¢K 430 120 0.0| 2 10 34 O-2 vK 200 11.0 10| 1 4 64 V-1 *A 50 12.0
13 11 44 S= 7 420 100 20|11 6 INV-2 *2 200 11.0 10|14 7 3NV= vT -400 10.0
1 9 24 S+1 7 140 70 50| 8 9 2vy N+1 vA 140 80 40| 2 10 44 V+1 +9 -450 6.0
2 4 34 N= *+K 140 70 50| 3 5 24V-1 +Q 100 40 80| 8 9 4aV+l +9 -450 6.0
12 3 2NN= v5 120 40 8013 12 24 O-1 vK 100 40 80(11 6 44 O+1 v6 -450 6.0
10 5 2¢ N= &9 90 20 100(14 7 24 V-1 vT 100 40 80| 3 5 3NO+2 vT -460 10 1
7 8 44 S-1 *2 -50 0.0 120 1 4 24 0= vK -110 0.0 120|113 12 3NV +2 v3 -460 10 1
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